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QUESTION 1

Merchele is working on a gadget and would like it to render locally. She understands that the OpenSocial Component
will read data from the local replica of the widget catalog. However, she is finding that it is not rendering locally.

Which might be a reason for this?

A. The ACL is not set properly on the local replica.

B. The gadget is using OAuth and needs to run remotely.

C. The IBM Notes client is not capable of handling trust management.

D. An instance of the IBM Domino server with Shindig is installed locally.

Correct Answer: B

QUESTION 2

OAuth does not require a specific interaction pattern which makes it ideal for which reason?
A. For cases where OpenlD is required and available to the consumer.

B. For cases where OpenlD is not required but is available to the consumer.

C. For cases where authentication credentials are unavailable to the consumer.

D. For cases where authentication credentials are always available to the consumer.

Correct Answer: A

QUESTION 3

HTTP basic authentication is supported using the REST API. Which is a valid cookie named?
A. sessionid

B. RestToken

C. RestSession

D. SimpleToken

Correct Answer: D

QUESTION 4

What feature must an OpenSocial API Server support to be compliant?
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A. the REST protocol

B. Java 1.6 and above

C. the File Transfer Protocol (FTP)

D. internationalization via properties files

Correct Answer: A

QUESTION 5

Francois would like to build an OpenSocial gadget.

Why might Francois choose to use an OpenSocial Template for his gadget?

A. OpenSocial Templates do not require well-formed XML which will save development time.

B. OpenSocial Templates allow the developer to customize the gadget to a specific device and platform.

C. OpenSocial Templates allow developers to easily build gadgets with relatively little or no JavaScript coding.

D. OpenSocial Templates have built-in optimization that improves performance and response time to the end user.

Correct Answer: B
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